In Exercises 1 and 2, describe the vector (e.g. right 2 units, down 3 units) and write its component
form (e.g. <2,-3>).

o 5 e S §ome : e | |
j / \ ¢ i 4 /2 / 97 Own
L7 - 3 > oo ]
\ : '/ ‘ < 5 "i / - Lf’ >
32
in Exercises 3 - 6, the vertices of ADEF are D(2, 5), E(6, 3), and F(4, 0). For each vector:

a) Find the coordinates of the image of ADEF under a translation along the vector.
b) Graph ADEF and its image.
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In Exercises 7 and 8, find the component form of the vector that translates P(-3, 6) to P

7. P(0,1) 8. P (-4,8)
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e.iWrite the component form for thetranslation of ALMN to AL'M'N *.
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In Exercises 11-14, use the translation, (x, y) — x-8y+4
11. What is the image of A(2, 6)? /ﬁ / (
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12. Whatis the image of 5(-1,5)? ¢ /[ -7 ‘93;,\
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13. What is the preimage of C '(=3, =10)? C [ 5 \,«} L} )
X
14. What is the preimage of D'(4, -3)? D ( ) o ) = 7)

In Exercises 15 - 18, APQR has vertices P(~2, 3), Q(1, 2), and R(3, —=1). For each translation:
a) Find the coordinates for the image of APQR.

b) Graph APQR and its image.

(X, ¥) = (x+4,y+6) 16. (X, ¥) — (x+9,y-2)
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